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3.  E � �����.!���-E ����� ��

3.1  �����������&�� �*+�,��$��	!�����-.�/0������������'!�(
��

       ���������

#
�B%#B ��#��A����������	������������������������?
=����	�����>%� �%���P
���
��

�����7������
�������M����%
=�� %����
�M���7���������������������$�������M����%
=�� ��=�
	9�M�����$���#
�	�������Q��A�7���#���B�?
=��%$���� ����������
�� �I������������	��������
�������������� [Cu4(bimztH2)10]Cl4·10H2O, [Cu(bimztH2)2Br] ��� Cu(bimztH2)2I]·CH3COCH3

>%�#
��������Q���A����$�M��� >%���  ��%� ���#����� ������ : �����%� (1 : 1, 1 : 1.5, 1 : 2,
1 : 2.5 ��� 1 : 3)  ���%7��$��?I������ (���
�$� �#?���� ������
�$>�>$���) �B_�Q@#�?
=A��
A�������%�\������� (60, 65, 70, 75, 80, 85 ��� 90 oC) ����?
=A��A�������%�\������� (2, 3, 4, 5, 6
��� 7 ��=��#�) �%��Q���?
=��#���#A�����$�
�#�����������������?�
���#���% ��%�A�$�
���?
= 3.1
        �I������#��$�?�����Q�O���	��#��#��CA���������A�$��?I���������%$ �� �  ��%�%��
$����?
= 3.2 ��� 3.3 $�#�I�%��

$����?
= 3.1 ��B��Q���?
=��#���#7��������%�\�������

�����������������
(�@$�?���	#
)

��$��� ��
����:�����%�

$��?I������ �B_�Q@#� ( oC) ���� (��=��#�)

[Cu4(bimztH2)10]Cl4·10H2O         1 : 2.5 �#?���� 85 2
[Cu(bimztH2)2Br]         1 : 2 ���
�$� 80 2
[Cu(bimztH2)2I]·CH3COCH3         1 : 2 ���
�$� 70 2
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$����?
= 3.2 �#��$�?�����Q�O7�������%� bimztH2 ��������������������

�#��$�?�����Q�O���������
(�@$�?���	#
)     ����_�M���           �
 �B%���#���� ( oC)

bimztH2     �������
=�#        ���9�� 300-304
[Cu4(bimztH2)10]Cl4·10H2O     �@����
=�#        �7
�� 255-260
[Cu(bimztH2)2Br]     �@��7N#        ># #
�
 245-250
[Cu(bimztH2)2I]·CH3COCH3     �@��7N#        ># #
�
 240-245

$����?
= 3.3 ��%�	��#��#��CA���������7�������������������A�$��?I���������%$ �� �

�����������������
$��?I������   [Cu4(bimztH2)10]Cl4

  ·10H2O
   [Cu(bimztH2)2Br]    [Cu(bimztH2)2I]

   ·CH3COCH3

     Hexane         ># �����         ># �����         ># �����
     Toluene         ># �����         ># �����         ># �����
     Diethyl  ether         ># �����         ># �����         ># �����
     Dichloromethane         ># �����         ># �����         ># �����
     Tetrahydrofuran         ># �����          �����

(��������#
�
���9��)
         �����
(��������#
�
���9��)

     Chloroform         ># �����         ># �����         ># �����
     Ethyl  acetate          �����

 (��������#
�
�7
��)
        ># �����         ># �����

     Acetone         ># �����          �����
(��������#
�
���9��)

        �����
(��������#
�
���9��)

     Ethanol          �����
 (��������#
�
�7
��)

        ># �����         ># �����

    Acetonitrile         ># �����         ># �����         ># �����
    Methanol         �����

 (��������#
�
�7
��)
        ># �����         ># �����
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$����?
= 3.3 ($ �)

�����������������
$��?I������   [Cu4(bimztH2)10]Cl4

  ·10H2O
   [Cu(bimztH2)2Br]     [Cu(bimztH2)2I]

    ·CH3COCH3

  Dimethysulfoxide         �����
 (��������#
�
�7
��)

        �����
(��������#
�
���9��)

        �����
(��������#
�
���9��)

  Water         ># �����         ># �����         ># �����

        ���7��#@���������7�������������������O�� �#
	��#��%	��������	�������?
=>%� �%�
?
=�����������������7�� [Cu4(bimztH2)10]Cl4·10H2O �������  ionic complex ��=������>%�%
A�
$��?I������#
7�
� ��=�$�����7��#�������������������� [Cu(bimztH2)2Br] ��� [Cu(bimztH2)2I]
·CH3COCH3 ��=�#
�	���������� neutral complex

3.2  ����!�����&�&���!$��"�	��#���2�����������3�����������'!�(
��

       �����������#�_P�$B	������ >��%���� >��$���� �������R��� A������������������?
=
����	�����>%�O�� �#
	 �A����	
�����M�?
=>%�������	I���_����@$��#���B� %����%�A�$����?
= 3.4

$����?
= 3.4 M�������	����������#�_P�$B	������ >��%���� >��$���� �������R���
                   A������������������

�����������������
(�@$�?���	#
)

%C O�
(	I���_)

%H O�
(	I���_)

%N O�
(	I���_)

%S O�
(	I���_)

[Cu4(bimztH2)10]Cl4·10H2O 38.12
(40.45)

3.96
(3.88)

12.34
(13.48)

14.78
(15.43)

[Cu(bimztH2)2Br] 38.32
(37.86)

2.78
(2.73)

12.17
(12.62)

14.71
(14.45)

[Cu(bimztH2)2I]·CH3COCH3 34.07
(34.26)

2.43
(2.46)

11.41
(11.45)

13.07
(13.07)
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3.3  ����!�����&�&�'�!�0��"�	�3�����������'!�(
��5�-3'
����!� XRF

       XRF ����$��#7��P�$BA������������������ ��%�A��@�?
= 3.1 - 3.9

�@�?
= 3.1 XRF ����$��#7��	�������A������������������ [Cu4(bimztH2)10]Cl4·10H2O

�@�?
= 3.2 XRF ����$��#7������R���A������������������ [Cu4(bimztH2)10]Cl4·10H2O
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�@�?
= 3.3 XRF ����$��#7��	���
�A������������������ [Cu4(bimztH2)10]Cl4·10H2O

�@�?
= 3.4 XRF ����$��#7��	�������A������������������ [Cu(bimztH2)2Br]



30

�@�?
= 3.5 XRF ����$��#7������R���A������������������ [Cu(bimztH2)2Br]

�@�?
= 3.6 XRF ����$��#7�����#
�A������������������ [Cu(bimztH2)2Br]
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�@�?
= 3.7 XRF ����$��#7��	�������A������������������ [Cu(bimztH2)2I]·CH3COCH3

�@�?
= 3.8 XRF ����$��#7������R���A������������������ [Cu(bimztH2)2I]·CH3COCH3
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�@�?
= 3.9 XRF ����$��#7��>���%
�A������������������ [Cu(bimztH2)2I]·CH3COCH3

        ����@�?
= 3.1 - 3.9 O�� ������������������?
=����	�����>%�A���C�7��O������?
= 8.04 ���

2.31 keV ��=�#
	 �$����� Kα 7��P�$B	��������������R��� $�#�I�%�� �������

���O�� � XRF
����$��#7������������������� [Cu4(bimztH2)10]Cl4·10H2O, [Cu(bimztH2)2Br] ��� [Cu

(bimztH2)2I]·CH3COCH3 A���C�7��O������?
= 2.63, 11.92 ��� 28.54 keV �%�#
	 ��? ���� Kα
7��P�$B	���
� ���#
�  ���>���%
� $�#�I�%�� ���7��#@�%���� ���9����>%�� �#
P�$B��� ��

 A�
�����������������?
=����	�����>%�

3.4  ���*+�,������ #�-��� �0������:�� 
� FT-IR

       FT-IR ����$��#7�������%� bimztH2 ����������������������%�%���@�?
= 3.10 - 3.15
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= 3.10 FT-IR ����$��#7�������%� bimztH2

�@�?
= 3.11 FT-IR ����$��#7������������������� [Cu4(bimztH2)10]Cl4·10H2O
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�@�?
= 3.12 FT-IR ����$��#7������������������� [Cu(bimztH2)2Br]

    

�@�?
= 3.13 FT-IR ����$��#7������������������� Cu(bimztH2)2I]·CH3COCH3
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�@�?
= 3.14 FT-IR ����$��#7������������������� [Cu(bimztH2)2I]

       �����%� bimztH2 #
��B #7�� −N−C=S ������	���������@  �%�#
M@����������$��#7��−N−
C=S �� �������7��� �� � Rao et al. (1961) ����� � IR ����$��#7����B #  thioamide �������
mixed vibration �%����% 3 �C� A�� �� 1395 - 1570 cm-1, 1270 - 1420  cm-1 ��� 940 - 1140 cm-1

$�#�I�%�� $ �#� Suzuki (1962) >%����� IR  ����$��#��B # thioamide �%������ ��I����� primary
thioamide ����%��C����%@%��9�?
= 1620  cm-1 ��=����������7�� NH2 deformation � ����_
?
=
���� secondary thioamide ��># #
�C�%���� �� �7������ ��C�7����B # secondary thioamide ��=�

���%?
= 1395 - 1570 cm-1  (�C�?
= I) �����%�����#���7������� (bending) 7�� N−H deformation
�������9% (stretching) 7�� C−N, (�C�?
=  II) ?
= 1270 - 1420 cm-1 ���%�������9%7�� C−N, ���
��7�� N−H deformation ��������7�� C−H deformation, (�C�?
= III) ?
= 940 - 1140  cm-1 ���%

�������9%7�� C−N ��� C=S �������

 Suzuki ���O�� �#
�C����%7�
�?
=  680 - 860 �7�����A��
�����C�?
= IV ������%������ �9%7�� C=S �� ���%
�� ��=���%	���������������?
= Jolley et al.
(2000) >%�����>�� �������

 Raper et al. (1988) >%�������C����%@%��9�7����B # thioamide A�
�����������������?
=�$�
�#��������%�  bimztH2 ���	�������(II)�����	����$ O�� �#
�C�%��
�� �����%7�
�?
= 1470 cm-1 (�C�?
= I),  1360 cm-1 (�C�?
= II), 1180 cm-1 (�C�?
= III) ��� 740 cm-1

(�C�?
= IV) ����������� FT-IR ����$��#7�� bimztH2 �I�����A����������

O�� �#
�C�7����B #
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thioamide ?�
��
=�C�%��?
=�� ������ 	9� �C�?
= I ���%?
= 1468 cm-1 �C�?
= II ���%?
= 1357 cm-1 �C�?
= III
���%?
= 1181 cm-1 ����C�?
= IV ���%?
= 744 ��� 713 cm-1 �������

�#9=�O����_� FT-IR ����$��#
(�@�?
= 3.10 - 3.15) O��C����%@%��9�?
=#
����_������?
= 3155 cm-1 ��=����%�������9%7�� N−H
��%�%��$����?
= 3.5

$����?
= 3.5 ��%�7��#@�7���C�����9%7�� N−H A������%� bimztH2  ��������������������

       ���$����?
= 3.5 O�� ��C�����9%7�� N−H A������%������?
= 3155 cm-1 �#9=����%���������
��������#
������
=������7����7	�9=�?
=�@�7�
����#
�����������������C�
       ��� FT-IR ����$��# (�@�?
= 3.10 - 3.14) O��C����%@%��9�7�� thioamide �C�?
=  I ��� II
7�������%� bimztH2  ��������������������	�������(I)��>�%� ��%�%��$����?
= 3.6

$����?
= 3.6 ��%�7��#@�7�� thioamide �C�?
= I ��� II A������%� bimztH2

                    ��������������������

   ��������� ν(N−H) (cm-1)
   bimztH2 3155
   [Cu4(bimztH2)10]Cl4·10H2O 3204,   3380
   [Cu(bimztH2)2Br] 3201,  3383
   [Cu(bimztH2)2I]·CH3COCH3 3202,  3385
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       ���$����?
= 3.6 O�� ��C����%@%��9�7�� thioamide �C�?
= I ��� II 7�����������
��������?B����%#
������
=������>������7	�9=�?
=�@�7�
��� ��%
�����?
=O�A��C�����9%7��  N−H
?�
��

����M��������	����%������M ����$�#����R����������%���C ���������B (charge transfer)

�����$�#>��$����>������$�#����R��� ?I�A��O��P� N−H ��� C−N #
	��#�7N�����O�=#7�
�
(Aslanidis et al., 1994)

       �I������C����%@%��9�7�� thioamide �C�?
= III �����_ 1180 cm-1 ��=����%�������9%7�� C−
N ��� C=S ��%�%��$����?
= 3.7

$����?
= 3.7 ��%�7��#@�7�� thioamide �C�?
= III A������%� bimztH2  ��������������������

 ���������
thioamide �C�?
= III (cm-1)

ν(C−N) ��� ν(C=S)
 bimztH2 1181
 [Cu4(bimztH2)10]Cl4·10H2O 1180
 [Cu(bimztH2)2Br] 1180
 Cu(bimztH2)2I]·CH3COCH3 1175

       ���$����?
= 3.7  O�� ��C����%@%��9�7��   thioamide   �C�?
= III   7�������������������
?B����%#
������
=������>������7	�9=�?
=$=I��� �7�������%�������O
����N�����     ?�
��

��9=��#����
�C��

#
� ��7������9%7�� C−N ��#��@ %���
       �I������C����%@%��9�7�� thioamide �C�?
= IV �����_ 744 cm-1 ��=����%�������9%7�� C=S
��%�%��$����?
= 3.8

  ���������
thioamide �C�?
= I (cm-1)

ν(C−N) ��� δ(N−H)
thioamide �C�?
= II (cm-1)

ν(C−N), δ(N−H) ��� δ (C−H)
  bimztH2 1468 1357
  [Cu4(bimztH2)10]Cl4·10H2O 1470 1361
  [Cu(bimztH2)2Br] 1470 1360
  [Cu(bimztH2)2I]·CH3COCH3 1470 1361
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$����?
= 3.8 ��%�7��#@�7��  thioamide  �C�?
=  IV  A������%�  bimztH2

                    ��������������������

 ���������
thioamide �C�?
= IV (cm-1)

                ν(C=S)
 bimztH2                 744,  713
 [Cu4(bimztH2)10]Cl4·10H2O                 734
 [Cu(bimztH2)2Br]                 734
 [Cu(bimztH2)2I]·CH3COCH3                 734

       ���$����?
= 3.8 O�� ��C����%@%��9� thioamide �C�?
= IV 7�������������������#
���
���
=������?
=��%�����=�	9�A������%��������O�?
= 744 ��� 713 cm-1 �$ �#9=����%�������������
����������O��O
���C��%
��?
= 734 cm-1 ������
=������>������7	�9=�?
=$=I��� �7�������%������
��%�� ������%�A����$�#����R���A�����	����%���$���	�������
       �������

O�������
=������7���C����%@%��9�?
= 602  cm-1 ��=����%��������7�� C−S
��%�%��$����?
=  3.9

$����?
= 3.9 ��%�7��#@�7���C������7�� C−S A������%� bimztH2

                    ��������������������

���������   δ(C−S) (cm-1)
 bimztH2 602
 [Cu4(bimztH2)10]Cl4·10H2O 598
 [Cu(bimztH2)2Br] 598
 [Cu(bimztH2)2I]·CH3COCH3 598

       ���$����?
= 3.9 O�� ��C������7�� C−S #
������
=������>������7	�9=�?
=$=I��� ��#9=����%
���������������������?�
��

����M�#�������?
=�����%�A����$�#����R���A�����	����%������
���	������� ��=���%	���������������7�� Raper et al. (1988)
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       �#9=�O����_�   FT-IR   ����$��#7�������������������   [Cu(bimztH2)2I]·CH3COCH3

(�@�?
= 3.13) O��C����%@%��9�?
= 1688 cm-1 ���?
= 1384 cm-1 �����
�>%��I�M���7�����������
��������>���?
=�B_�Q@#����#�_ 100oC �������� 10 ��?
 �#9=��I�>���%	 ����%@%��9�>%� FI-IR
����$��# (�@�?
= 3.14) ��=�># ����\�C����%@%��9�?�
���� %����
������B�>%�� ��C����%@%��9�?
=

1688 cm-1 ���%�������9%7�� C=O ���?
= 1384 cm-1 ���%��������7�� C−H 7���#@ �#?�� ��%�
� ��	�������7�������������������%���� ��#
�#���B�7�����
�$���=�A������$��?I������A�7�
�
$���������	������������������������@ %���

3.5  ���*+�,� 1H NMR � � 13C NMR

       1H NMR  ����$��#7�������%� bimztH2 �������������������� ��%�%���@�?
= 3.15 - 3.18
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�@�?
= 3.15 1H NMR ����$��#7�������%� bimztH2 A� DMSO-d
6
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�@�?
= 3.16 1H NMR ����$��#7������������������� [Cu4(bimztH2)10]Cl4·10H2O A� DMSO-d
6
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�@�?
= 3.17 1H NMR ����$��#7������������������� [Cu(bimztH2)2Br] A� DMSO-d
6
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�@�?
= 3.18 1H NMR ����$��#7������������������� [Cu(bimztH2)2I]·CH3COCH3A� DMSO-d
6
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       ��� 1H NMR ����$��# (�@�?
= 3.15 - 3.18) ��#��C��%�7��#@� 1H NMR 7�������%�
bimztH2 �������������������� %��$����?
= 3.10

$����?
= 3.10 ��%�7��#@� 1H NMR 7�������%� bimztH2 ��������������������

Aromatic protons
���������

H4, H7 H5, H6

N−H

bimztH2       7.49 (4H, m)       7.49 (4H, m) 13.28 (br, s)
[Cu4(bimztH2)10]Cl4·10H2O       7.20 (2H, s)       7.15 (2H, s) 12.78 (br, s)
[Cu(bimztH2)2Br]       7.26 (2H, dd,

      J = 6.3 Hz )
      7.19 (2H, dd,
      J = 5.5 Hz)

12.87 (br, s)

[Cu(bimztH2)2I]·CH3COCH3       7.58 (2H, s)       7.52 (0.03) (2H, s) 13.57 (br, s)

       ���	 � chemical shifts A�$����?
= 3.10 ��#��C�I�������$��?
=����\?
= 13.28 ppm  (br, s)
������~~�_7�� N−H ���$�� 2 ��B # �����$��� ��7������ integration ��%�� �#
 2 ���$��?
=
#
��=���%���#��#9����� �#9=����
���?
����$��� ��7������ integration 7��  N−H ���$�����
���$��������������#�$������
� O�� �#
	 � 1 : 2 ���># O���~~�_7�� S−H ���$��
��#��C�9����>%�� �?�
������%���������������������?�
���#���%��@ A��@�7�� thione A�$��?I�
����� DMSO-d6 (Aslanidis et al.,  2002) �������

A������%��������\��~~�_7�����$��?
=

� �� 7.49 ppm (m, AA′BB′ system) ������~~�_7�� methine  protons ������������#�$��
����
� �I���� 4 ���$��  �������$��A�$I���� �?
= H4, H7, H5, ��� H6 �%��#9=����%�������
��������������O�� �	 � chemical shifts #
������
=������>�
       �I����� 13C NMR ����$��#7�������%� bimztH2 ��������������������?�
���#���% ��%�
%���@�?
= 3.19 - 3.22
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�@�?
=  3.17  13C NMR  ����$��#7�������%�   bimztH2  A�  dimethylsulfoxide-d6

�@�?
=  3.19    1H NMR  ����$��#7�������������������  [Cu4(bimztH2)10]
4+

  A�  dimethylsulfoxide-d
6

�@�?
= 3.19 13C NMR ����$��#7�������%� bimztH2 A� DMSO-d
6
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�@�?
= 3.20 13C NMR ����$��#7������������������� [Cu4(bimztH2)10]Cl4·10H2O A� DMSO-d
6
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�@�?
= 3.21 13C NMR ����$��#7������������������� [Cu(bimztH2)2Br] A� DMSO-d
6
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�@�?
= 3.22 13C NMR ����$��#7������������������� [Cu(bimztH2)2I]·CH3COCH3A�DMSO-d
6
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       ��� 13C NMR ����$��# (�@�?
= 3.19 - 3.22) ��#��C��%�7��#@� 13C NMR chemical shifts
7�������%�  bimztH2 �������������������� %��$����?
= 3.11

$����?
= 3.11 ��%�7��#@� 13C NMR chemical shifts 7�������%� bimztH2 ��������������������

  	 � chemical shifts (ppm)
��������� C2

C=S
C4,7

CH
C5,6

CH
C8,9

C

bimztH2 168.34 109.75 122.59 132.48
[Cu4(bimztH2)10]Cl4·10H2O 165.93 110.08 122.79 132.04
[Cu(bimztH2)2Br] 165.11 110.35 123.06 132.06
[Cu(bimztH2)2I]·CH3COCH3 164.10 110.65 123.29 131.96

        ��� 13C NMR ����$��# (�@�?
= 3.19 - 3.22) ��%��I����	������?�
��#% 7 	������  >%���  1
	������7�� thiocarbonyl �����?
= 168.34 ppm ��=�����7�� C2 ��� 4 	������7�� methine
	������ A�� ������#�$�� �����?
= 109.75 ��� 122.59 ppm ��=�����7�� C4,7  ��� C5,6 $�#�I�%��
��� quaternary 	������ 2 	������?
= 132.48 ppm
        �#9=�O����_�7��#@� 13C NMR chemical shifts 7������������������� ($����?
= 3.11) O�� �
C2 ���  C8,9 #
������
=������7��	 � chemical shifts ������#�@� (upfield) ?�
��

�O���M����
�I�����������N�$���#
#��7�
� �#9=������%��	����%���$M ����$�#����R���>��������	�������

��=���?I�A��O��P� C=S � ���� ������%���C �����	��#����� �7������N�$��� ���>��$����
>���� C2 � �� C4,7 ��� C5,6 #
������
=������7��	 � chemical shifts ������#$=I� (downfield)
��9=�����M�7�����C �����	��#����� �7������N�$���>���� C8,9 ��=���%	���������������7��
Isab  et al. (2003)
         �#9=�O����_� 13C NMR ����$��# (�@�?
= 3.22) 7�������������������7�� [Cu(bimztH2)2I]
·CH3COCH3 O�� ���%���~~�_7�� carbonyl ����\?
= 206.64 ppm ��� methine 	������ (CH)
�����?
= 30.86 ppm ��=�������~~�_7�����
�$�  ��%�� �#
�#���B�7�����
�$�A�M���7�����
��������������%���� �� ?�
��

��9=�����A�����
�$�����$��?I������A�7�
�$���������	��������
��������������
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3.6  ���*+�,�5�����
��0������������'!�(
��5�-�!"#���� #D-����0������#���(���E +���#�-�

       A����������

>%�?I������N�7��#@������

�����7������
�������M����%
=��   ����I����������
�	�������7�������������������  [Cu4(bimztH2)10]Cl4·10H2O  A��������#  Xtal version 3.7
��=�M����	I���_��>%�7��#@�M��� ($����?
= 3.12) 	 �7��	��#���O��P�, #B#O��P� ($����?
= 3.12
- 3.14) ����	�������7���#���B� %����%�A��@�?
= 3.23 ��� 3.24
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$����?
= 3.12 7��#@�M���7������������������� [Cu(bimztH2)10]Cl4·10H2O

����������������� [Cu4(bimztH2)10]Cl4·10H2O
�@$��#���B� Cu4Cl4C70H76N20O8S10

�
I������#���B� 2042.26
�B_�Q@#� 293(2)
����M��� Triclinic
Space group Pī (No.2)
Unit cell dimensions

a (Å) 14.0496(13)
b (Å) 16.7550(16)
c (Å) 21.6075(20)
α ( o ) 88.1116(18)
β
 ( o ) 85.8730(17)
γ ( o ) 78.1664(18)

Volume (Å3) 4964.5(1.4)

Z 2

Density (calculated) (Mg/m3) 1.366

F(000) 2088

Crystal size (mm3) 0.190 × 0.164 × 0.113

Reflections collected 22979
Independent reflections 6918
R 0.125
Rw 0.164
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�@�?
= 3.23 �	�������7�� [Cu4(bimztH2)10]
4+
 (�#���B�?
= 1)

$����?
= 3.13 	��#���O��P����#B#O��P������$�#	�������
                     A��#���B� [Cu4(bimztH2)10]

4+
 (�#���B�?
= 1)

O��P� 	��#���O��P� (Å)
      Cu(1)-Cu(2)             2.687(5)
      Cu(1)-S(1a)             2.31(1)
      Cu(1)-S(1b)             2.413(8)
      Cu(1)-S(1c)             2.293(9)
      Cu(1)-S(1d)             2.422(9)
      Cu(2)-S(1a)             2.494(8)
      Cu(2)-S(1b)             2.384(9)
      Cu(2)-S(1d)             2.352(8)
      Cu(2)-S(1e)             2.26(1)

Cu1

Cu2

S1a

S1b

S1cS1d

S1e
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$����?
= 3.13 ($ �)

O��P� #B#O��P� ( o )
   S(1a)-Cu(1)-S(1b)        113.2(3)
   S(1a)-Cu(1)-S(1c)        114.1(3)
   S(1a)-Cu(1)-S(1d)        107.1(3)
   S(1b)-Cu(1)-S(1c)        115.9(3)
   S(1b)-Cu(1)-S(1d)        95.9(3)
   S(1c)-Cu(1)-S(1d)        108.6(3)
   S(1a)-Cu(2)-S(1b)        107.8(3)
   S(1a)-Cu(2)-S(1e)        112.2(3)

   S(1a)-Cu(2)-S(1d)′        89.5(3)

   S(1b)-Cu(2)-S(1e)        111.9(4)

   S(1b)-Cu(2)-S(1d)′        104.7(3)

   S(1e)-Cu(2)-S(1d)′        127.7(3)

�#����$B : Superscript ����#O��P�����##�$�%���


              ′  =  1 - x, -y, -z
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�@�?
= 3.24 �	�������7�� [Cu4(bimztH2)10]
4+
 (�#���B�?
= 2)

$����?
= 3.14 	��#���O��P����#B#O��P������$�#	�������
                      A��#���B�  [Cu4(bimztH2)10]

4+
  (�#���B�?
= 2)

O��P� 	��#���O��P� (Å)
      Cu(3)-Cu(4)          2.671(5)
      Cu(3)-S(1f)          2.229(9)
      Cu(3)-S(1g)          2.382(8)
      Cu(3)-S(1h)          2.33(1)
      Cu(3)-S(1i)          2.435(9)
      Cu(4)-S(1g)          2.315(9)
      Cu(4)-S(1h)          2.559(8)
      Cu(4)-S(1i)          2.330(9)
      Cu(4)-S(1j)          2.26(1)

Cu4

Cu3

S1g
S1h

S1j
S1i

S1f
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$����?
= 3.14 ($ �)

O��P� #B#O��P� ( o )
   S(1f)-Cu(3)-S(1g)         116.0(3)
   S(1f)-Cu(3)-S(1h)         112.7(3)

   S(1f)-Cu(3)-S(1i)′         112.7(3)

   S(1g)-Cu(3)-S(1h)         113.7(3)

   S(1g)-Cu(3)-S(1i)′         100.3(3)

   S(1h)-Cu(3)-S(1i)′         99.6(3)

   S(1g)-Cu(4)-S(1h)         108.1(3)
   S(1g)-Cu(4)-S(1j)         112.8(4)
   S(1g)-Cu(4)-S(1i)         116.1(3)
   S(1h)-Cu(4)-S(1j)         111.5(3)
   S(1h)-Cu(4)-S(1i)         85.8(3)
   S(1j)-Cu(4)-S(1i)         118.8(4)

�#����$B : Superscript ����#O��P�����##�$�%���


              ′  =  1 - x, -y, -z
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�@�?
= 3.25 �	�������7�� [Cu4(bimztH2)10]Cl4 A��� ������� (O�N�$$�#��� a)
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        ���M����������	�������M���7������������������� [Cu4(bimztH2)10]Cl4·10H2O O�� �#

����M�������>?�	�������@ A��#@ ���Q@#� Pī #
�	$>��������� [Cu4(bimztH2)10]

4+�I���� 2
�#���B�A����=��� �������  (�@�?
=  3.25) �%��$ ���#���B�#
�@��������##�$����	�������#
���
��%$��A�������%
����� 4 ��$�# ��=�#
�����%� bimztH2 A������R���A���������O��P����	�������
A����   terminal   �����I����   4   �#���B����#
�����%�   bimztH2  �����O��P����	����������
µ2-S bridging  �I����  6  �#���B�  (�@�?
=  3.23  ���  3.24)  �%��@�?��?����7�	_�$���	�������
�$ ����$�#�������?�����
=�#�
=����?
=��%��

�� ��=�#
#B#O��P������$�#	�������7���#���B�
?
= 1 ��@ A�� �� 89.5(3) - 127.7(3)o ����#���B�?
= 2 ��@ A�� �� 85.8(3) - 118.8(4)o ($����?
= 3.13 ���
3.14) �#9=�O����_��@�?
= 3.24 ��� 3.25 O�� ������7�������%�?B��#���B�#
����_���
��$ �
�����7����B # Cu4 �%�#
	@ ��$�#7�� S1a ��� S1b A��#���B�?
= 1 ��� S1g ��� S1h A��#���B�?
=
2 ��=�#
�����%$����@ ��������7����B # Cu4 ���� �A�����% core 7�� Cu2S2 �%�	@ ��$�#%���� ��
���� bridging ?
=># �##�$� ��=�����M�#����	��#���O��P� Cu(1)�S(1a)  ��
��� � Cu(2)�S(1a)
���  Cu(2)�S(1b)   ��
��� �   Cu(1)�S(1b)   A��#���B�?
=  1   ($����?
=  3.13)   ���	��#���O��P�
Cu(4)�S(1g)  ��
��� � Cu(3)�S(1g) ��� Cu(3)�S(1h) ��
��� �  Cu(4)�S(1h) A��#���B�?
= 2  ($����
?
= 3.14) �%�#
����_��� ��%
����� bridging A������������������ [Cu2(bimztH2)5](ClO4)2·7H2O
(Raper et al.,1988)
        	��#���O��P� Cu�S ��� terminal ��@ A�� �� 2.26(1) - 2.293(9) Å ��=�#
	 ���
��� �	��#���
O��P� Cu�S ��� bridging  �%���@ ���� ��  2.31(1) - 2.559(8) Å   �$ ���	���@ A�� ��7��	��#���
O��P� Cu�S (2.196 - 2.631 Å) A� dinuclear (Creighton et al.,  1985) ��� tetranuclear (Crumbliss
et al., 1974)
        ������������	�������7�������������������%���� ��     O�������?I����� ��	�������
Cu(I)···Cu(I)  ���%7�
���@ Q��A� core 7�� Cu2S2 #
�����? ���� 2.687(5) ���  2.671(5) Å A��#���B�
?
= 1 ��� 2 $�#�I�%�� �� ��%
�������������7��  Mehrotra and  Hoffman (1978)   �������

���#

��$�#	���
�?I�����?
=�������>���� ���#
�#���B�7���
I���@ A��	��M���7�����������
��������7�� [Cu4(bimztH2)10]Cl4·10H2O
        �I�����������	�������7�������������������  [Cu(bimztH2)2Br]   ���   [Cu(bimztH2)2I]
·CH3COCH3 A��������# SHELXTL NT version 6.12 ��=�>%�7��#@�M���  ($����?
= 3.15 ��� 3.17)
	 �7��	��#���O��P�  #B#O��P�  ($����?
=  3.15 - 3.18)   ����	�������7���#���B�   %����%�A�
�@�?
= 3.26 - 3.29
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$����?
= 3.15 7��#@�M���7������������������� [Cu(bimztH2)2Br]

����������������� [Cu(bimztH2)2Br]
�@$��#���B� CuC14H12N4S2Br
�
I������#���B� 443.85
�B_�Q@#� 293(2) K
����M��� Monoclinic
Space group P21/c (No.14)
Unit cell dimensions

a (Å) 4.1549(4)
b (Å) 28.708(3)
c (Å) 13.2735(13)
α ( o ) 90
β
 ( o ) 95.564(2)
γ ( o ) 90

Volume (Å3) 1575.8(3)

Z 4

Density (calculated) (Mg/m3) 1.871

F(000) 880

Crystal size (mm3) 0.455 × 0.052 ×  0.04

Reflections collected 12490
Independent reflections 3192
R 0.0466
Rw 0.0955
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�@�?
= 3.26 �	�������7������������������� [Cu(bimztH2)2Br]

$����?
= 3.16 	��#���O��P����#B#O��P������$�#	�������
                      A��#���B� [Cu(bimztH2)2Br]

	��#���O��P� (Å) #B#O��P� ( o )
   Cu(1)-S(2)    2.2189(15)   S(2)-Cu(1)-S(1)  119.58(5)
   Cu(1)-S(1)    2.2463(13)   S(2)-Cu(1)-Br(1)  121.08(4)
   Cu(1)-Br(1)    2.4345(8)   S(1)-Cu(1)-Br(1)  118.74(4)
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�@�?
= 3.27 �	�������7������������������� [Cu(bimztH2)2Br] A��� �������
(O�N�$$�#��� a)

�@�?
= 3.28 �	�������7������������������� [Cu(bimztH2)2Br] A��� �������
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$����?
= 3.17 7��#@�M���7������������������� [Cu(bimztH2)2I]·CH3COCH3

����������������� [Cu(bimztH2)2I]·CH3COCH3

�@$��#���B� CuC17 H18 I N4 O S2

�
I������#���B� 548.91
�B_�Q@#� (K) 293(2)
����M��� Monoclinic
Space group P21/c (No.14)
Unit cell dimensions
a (Å) 4.5154(3)
b (Å) 22.2157(15)
c (Å) 20.4062(14)
α ( o ) 90
β
 ( o ) 94.8180(10)
γ ( o ) 90

Volume (Å3) 2039.8(2)

Z 4

Density (calculated) (Mg/m3) 1.787

F(000) 1080

Crystal size (mm3)  0.381 ×  0.142 ×  0.084

Reflections collected 16220
Independent reflections 4177
R 0.0414
Rw 0.0483
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�@�?
= 3.29 �	�������7������������������� [Cu(bimztH2)2I]·CH3COCH3

$����?
= 3.18 	��#���O��P����#B#O��P������$�#	�������
                      A��#���B� [Cu(bimztH2)2I]·CH3COCH3

	��#���O��P� (Å) #B#O��P� ( o )
  Cu(1)-S(2) 2.2426(12)   S(2)-Cu(1)-S(1) 107.10(5)
  Cu(1)-S(1) 2.2601(16)   S(2)-Cu(1)-I(1) 127.29(4)
  Cu(1)-I(1) 2.5480(7)   S(1)-Cu(1)-I(1) 119.97(5)
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�@�?
= 3.30 �	�������7������������������� [Cu(bimztH2)2I]·CH3COCH3 A��� �������
                        (O�N�$$�#��� a)
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       ���M����������	�������7�������������������  [Cu(bimztH2)2Br]  ��� [Cu(bimztH2)2I]
·CH3COCH3 �%���P
�����

�����7������
�������M����%
=�� O�� �M���7�������������������?�
�
�����@ A�����#���	�����  �#@ ���Q@#�  P21/c #
�I�����#���B�A����=��� ��������? ����  4  (�@�?
=
3.27 ��� 3.30) ��=�	������������O��P������>�%��I�������=�O��P���������O��P��������R���
�I�������O��P� �%�	��#���O��P� Cu�S  ��@ ���� ��  2.2189(15) - 2.5480(7) Å   ($����?
= 3.16
���  3.18)    #
	 �A����	
�����	��#���O��P�?
=O�A������������������?
=#
�@�?��?����7�	_�$
�����#���
=�#������ �� � Cu2(mimtH)5

2+ (Atkinson et al., 1985) ��� [Cu(SC6H5)3]
2-

(Coucouvanis et al., 1980) �$ �#9=�O����_�#B#O��P������$�#	�������A������������������
7��  [Cu(bimztH2)2Br] ��� [Cu(bimztH2)2I]·CH3COCH3  ($����?
= 3.16 ��� 3.18)   #
	 �># �? ����
120o     %����N�>%�����@�?��?����7�	_�$�����$�#	����������������#���
=�#������?
=
��%��

�� ���O�������?I�Q��A��#���B�7�������������������?�
����>%���  N�H···Br ���
N�H···I ���������?I����� ���#���B� 	9� N(1)�H(1)···S(1) �%�������?I�%���� �� ?I�A�����
����������������#��C��%$��>%���C
��A��Q���7���7N�  ($����?
= 3.19 ��� �@�?
= 3.31)
       �������

A������������������ [Cu(bimztH2)2I]·CH3COCH3 ��=�#
�#���B�7�����
�$�A�

�	��M��� ���%O��P�>��%�������� �� N(4)−H(4A) ��� O(1)

$����?
= 3.19 ��%����$�������7��O��P�>��%����A������������������ [Cu(bimztH2)2Br]
                      ��� [Cu(bimztH2)2I]·CH3COCH3

	��#���O��P� (Å)
����������������� D�H···A

D�H H···A D···A
#B#O��P� ( o )
D�H···A

N(1)�H(1)···S(1) 0.86 2.57 3.376(4) 157
N(2)�H(2)···Br(1) 0.86 2.67 3.360(3) 147

[Cu(bimztH2)2Br]

N(4)�H(4)···Br(1) 0.86 2.53 3.362(4) 162

[Cu(bimztH2)2I]
·CH3COCH3

N(1)�H(1)···S(1) 0.86 2.47 3.333(4) 178

N(2)�H(2A)···I(1) 0.86 2.83 3.648(4) 159
N(3)�H(3A)···I(1) 0.86 2.91 3.667(3) 149
N(4)�(4A)···O(1) 0.86 2.01 2.842(5) 163

�#����$B : D = Donor  atom, A = Acceptor atom
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�@�?
= 3.31 ��%����$�������7��O��P�>��%����A��	�������7�������������������
            (a) [Cu(bimztH2)2Br] �

(a)

(b)
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            (b) [Cu(bimztH2)2I]·CH3COCH3  
       A��	��M���7�������������������7�� [Cu(bimztH2)2I]·CH3COCH3 ���#
������?I�
���� ����
�7���#���B� 	9� Cu(1)···S(1) �? ����  3.138 Å (�@�?
= 3.32)

�

�@�?
= 3.32 ��%����$����������� ���#���B�A��	��M���7�������������������
                              [Cu(bimztH2)2I]·CH3COCH3


